Multiplique por poténcias de dez (nimero ausente)

Nome: Encontro: Data: Pontuacio:
9,657 x = 965.7 1,3 x = 1300
3,637 x =36.37 10,916 x =1091.6
10, 588 x =105.88 2,624 x =262.4
10, 455 x = 10455 4,702 x = 4702
8, 819 x = 8819 7,455 x = 745.5
6,819 x = 68.19 2,713 % =2713
6, 96 x = 696 4,2 x =42
6,427 x = 64.27 5,429 x = 54.29
3,043 x = 3043 4,892 x = 4892
1,224 x = 1224 1,33 x =13.3
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Multiplique por poténcias de dez (nimero ausente)

9,657 x 100 = 965.7
3,637 x 10 = 36.37

10, 588 x 10 = 105.88
10,455 x 1000 = 10455
8,819 x 1000 = 8819
6,819 x 10 = 68.19
6,96 x 100 = 696
6,427 x 10 = 64.27
3,043 x 1000 = 3043

1,224 x 100 = 122.4

Encontro: Data: Pontuacao:

1,3 x 1000 = 1300
10,916 x 100 = 1091.6
2,624 x 100 = 262.4
4,702 x 1000 = 4702
7,455 x 100 = 745.5
2,713 x 1000 = 2713
4,2x10 =42

5,429 x 10 = 54.29
4,892 x 1000 = 4892

1,33 x10=13.3
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